

## महाराष्ट्र राज्य माध्यमिक व उच्च माध्यमिक शिक्षण मंडळ, पुणे श्रीaharashtra State Moard Of Secondary and Higher Secondary Education, Plane

लातूर विभागीय मंडळ / LATUR DIVISIONAL BOARD

माध्यमिक शालान्त प्रमाणपत्र परीक्षा - गुणपत्रक '

### SECONDARY SCHOOL CERTIFICATE EXAMINATION - STATEMENT OF MARKS

आसन क्रमांक	केन्द्र क्रमांक	बिल्हा व शाळा क्रमांक	परीक्षेचा महिना व वर्ष	गुणपत्रिकेचा अनुक्रमांक
SEAT NO.	CENTRE NO.	DIST. & SCHOOL NO.	MONTH & YEAR OF EXAM.	SR.NO. OF STATEMENT
L013372	4044	62.02.058	MARCH-2016	088789

·उमेदवाराचे संपूर्ण नाव (आडनाव प्रथम) / CANDIDATE'S FULL NAME (SURNAME FIRST)

## Jagirdar Marguburraheman A Majeed Sayed

उमेदवाराच्या आईचे नावं / CANDIDATE'S MOTHER'S NAME Najma Begum

विषयाचा सांकेतिव	क क्रमांक व विषयाचे नाव		कमाल गुण	प्राप्त	गुण किंवा श्रेणी / Marks or Grade Obtained
Subject Code N	o. and Subject Name		Max. Marks	अंकात In Figures	अक्षरात / In Words
04 URDU (1	ST LANG)		100	087	EIGHTYSEVEN
16 MARATH	I_(2/3 LANG)		100	080	EIGHTY
17 ENGLISH	(2/3 LANG)		100	085	EIGHTYFIVE
71 MATHEN	IATICS		100	097	NINETYSEVEN
72 SCIENCE	& TECHNOLOGY		100	076	SEVENTYSIX
73 SOCIAL	SCIENCES		100	077	SEVENTYSEVEN
M6 DRAWIN	IG & PAINTING		•	A	
P1 HEALTH	& PHYSICAL EDUCA	TION		A	
P6 SOCIAL	SERVICE	1. (8)		A	
R6 PERSON	ALITY DEVELOPMEN	ar ·		A	
41 INFORM	ATION COMMUNICAT	ION TEC	•	A	
			1		
			11 = 1	1376	
			3		
lesult / निकाल PASS	£Percentage/टक्केवारी 85.20	एकूण गुण / Total Marks	500	426	FOUR HUNDRED AND TWENTYSIX

S160498789



महत्वाचे, टीप, कार्यशिक्षण व शालेय विषयातील श्रेणी आणि चिन्हांची माहिती यांचा तपशील मागील पृष्ठावर पहावा. See overleaf for Important, Notes, Grades in work education & school subjects and meaning of special characters.



56 2368 94758 26

Mounn

विभागीय सचिव/Divisional Secretary

## महाराष्ट्र राज्य माध्यमिक व उच्च माध्यमिक शिक्षण मंडळ, पुणे Maharashtra State Board Of Secondary and Higher Secondary Education, Pune

लातूर विभागीय मंडळ / LATUR DIVISIONAL BOARD

उच्च माध्यमिक प्रमाणपत्र परीक्षा - गुणपत्रक

HIGHER SECONDARY CERTIFICATE EXAMINATION - STATEMENT OF MARKS

शाखा	आसन क्रमांक	केंद्र कमांक	जिल्हा व उच्च.माध्य.शाळा कमाक		गुणपत्रिकेचा अनुक्रमांक
STREAM	SEAT NO.	CENTRE NO.	DIST. & HR. SEC.SCHOOL NO.		SR. NO. OF STATEMENT
SCIENCE	T029159	0551	62.02.001	FEBRUARY-18	066571

उमेदवाराचे संपूर्ण नाव (आडनाव प्रथम ) / CANDIDATE'S FULL NAME (SURNAME FIRST)

### Jagirdar Marguburraheman A Majeed Sayed

उमेदवाराच्या आईचे नाव / CANDIDATE'S MOTHER'S NAME

Najma Begum

विषयाचा सांकेति	क क्रमांक य विषयाचे नाव	+ माध्यम	कमाल गुण		प्राप्त गुण / Marks Obtained
***	No. and Subject Name	Medium	Max. Marks	अंकात In Figures	अक्षरात / In Words
01 ENGLISH		ENG	100	070	SEVENTY
40 MATHEMA	ATICS & STATISTICS	ENG	100	093	NINETYTHREE
54 PHYSICS		ENG	100	080	EIGHTY
55 CHEMISTE	RY	ENG	100	080	EIGHTY
56 BIOLOGY		ENG	100	051	FIFTYONE
97 INFORMAT	TION TECHNOLOGY(SC	ENG	100	058	FIFTYEIGHT
31 ENVIRON	MENT EDUCATION	MAR	050	050	FIFTY
30 HEALTH & PHY	SICAL EDUCATION (GRADE	) A			
Result / निकाल PASS	Percentage / टक्केवारी 74.15	एकूण गुण / Total Marks	650	482	FOUR HUNDRED AND EIGHTYTWO

H188066571



महत्वाचे, टीप, आरोग्य य शारीरिक श्लिण विषयातील श्रेणी आणि पिन्हांपी माहिती यांचा तपशील मागील पृष्ठागर पहागा. See overleaf for important, Notes, Grades in Health & Physical Education Subject and meaning of special characters.



The Million of the Strike Stri

4311079815148

विभागीय सचिव / Divisional Secretary



# वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

#### GRADE CARD

NAME

: JAGIRDHAR M. A.

REG. NO.: 2018AEPB023

DEGREE : B.Tech.(Agril. Engg.)

ACADEMIC YEAR : 2018 - 2019

SEMESTER NO.: I

INSTITUTE: College of Agril. Engg. & Technology, Parbhani

SR.NO.	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE POINTS	CREDIT
1	BS-MATH-111	Engineering Mathematics-I	3	7.1	21.3
2	BS-PHY-111	Engineering Physics	2	7.0	14.0
3	BS-COMP-111	Computer Programming and Data Structures	2	6.6	13.2
4	AS-SS-111	Principals of Soil Science	2	7.7	15.4
5	FMPE-111	Engineering Drawing	2	8.4	16.8
6	FMPE-112	Workshop Practice	1	8.2	8.2
7	PFE-111	Thermodynamics	2	8.0	16.0
8	REE-111	Engineering Chemistry	2	7.8	15.6
9	FS-111	Engineering Mechanics	3	7.1	21.3
10	AS-EXTN-111	Communication Skill & Personality Development	2	6.9	13.8
11	DEG-111*	Democracy, Election & Good Governance	1	6.8	PASS
			21		155.6

(R = Repeat, G = Passed by grace marks, \* = Non-gradial course, \*\* = Remedial Course, Ex = Exemption, \_\_ = Passed in Previous Year)

21 CREDITS COMPLETED **CREDITS POINTS** 155.6 **GRADE POINTS AVERAGE** 7.41

DATE: 29/10/2021

Note: This Grade Card is useful only for scholarship purpose and should not be used Mrkany other purpose.



# वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

#### GRADE CARD

NAME

: JAGIRDHAR M. A.

REG. NO.: 2018AEPB023

DEGREE : B.Tech.(Agril. Engg.)

ACADEMIC YEAR : 2018 - 2019

INSTITUTE: College of Agril. Engg. & Technology, Parbhani

SEMESTER NO.: II

SR.NO.	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE POINTS	CREDIT
1	BS-MATHS-122	Engineering Mathematics-II	3	6.1	18.3
2	BS-COMP-122	Web Designing and Internet Applications	2	9.8	19.6
3	AS-STAT-121	Statistical Methods in Engineering	2	7.8	15.6
4	AS-AGRO-121	Principles of Agronomy	2	6.7	13.4
5	AS-HORT-121	Principles of Horticultural Crops and Plant Protection	2	7.0	14.0
6	FMPE-123	Workshop Technology	2	8.4	16.8
7	SWCE-121	Surveying and Leveling	3	8.1	24.3
8	PFE-122	Heat and Mass Transfer	2	7.9	15.8
9	REE-122	Electrical Machines and Power Utilization	3	6.3	18.9
10	FS-122	Strength of Materials	2	7.8	15.6
11	PHYEDN-121*	Physical Education	1	8.4	PASS
12	NSS-121*	National Service Scheme	1	8.8	PASS
			23		172.3

(R = Repeat, G = Passed by grace marks, \* = Non-gradial course, \*\* = Remedial Course, Ex = Exemption, \_\_ = Passed in Previous Year)

23 CREDITS COMPLETED CREDITS POINTS 172.3 **GRADE POINTS AVERAGE** 7.49

DATE: 29/10/2021

College of Agril Engg & lect Note: This Grade Card is useful only for scholarship purpose and should not be used for any offer lower ose.



# वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

#### GRADE CARD

NAME

: JAGIRDHAR M. A.

REG. NO.: 2018AEPB023

DEGREE : B.Tech.(Agril. Engg.)

ACADEMIC YEAR : 2019 - 2020

INSTITUTE: College of Agril. Engg. & Technology, Parbhani

SEMESTER NO.: III

SR.NO.	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE POINTS	CREDIT
1	BS-MATH-233	Engineering Mathematics-III	3	6.5	19.5
2	FMPE-234	Farm Power and Automotive Engines	2	6.2	12,4
3	FMPE-235	Theory of Machines	2	7.0	14.0
4	SWCE-232	Soil Mechanics	2	6.8	13.6
5	SWCE-233	Watershed Hydrology	3	6.1	18.3
6	IDE-231	Fluid Mechanics and Open Channel Hydraulics	3	6.3	18.9
7	PFE-233	Engineering Properties of Agricultural Produce	2	7.2	14.4
8	FS-233	Theory of Structures	2	8.1	16.2
9	AS-EXTN-231	Entrepreneurship development and Business Communication	2	6.0	12.0
10		Communication			
			21		139.3

(R = Repeat, G = Passed by grace marks, \* = Non-gradial course, \*\* = Remedial Course, Ex = Exemption, \_\_ = Passed in Previous Year)

CREDITS COMPLETED	21
CREDITS POINTS	139.3
GRADE POINTS AVERAGE	6.63

DATE: 29 10/2021

Note: This Grade Card is useful only for scholarship purpose and should not be used for any charge parpose.



### वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

#### GRADE CARD

NAME

: JAGIRDHAR M. A.

REG. NO.: 2018AEPB023

DEGREE : B.Tech.(Agril. Engg.)

ACADEMIC YEAR . 2019 - 2020

SEMESTER NO.: IV

INSTITUTE: College of Agril, Engg. & Tech	nnology, Parbnani	
---	-------------------	--

SR.NO.	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE POINTS	POINTS
ì	BS-PHY-242	Applied Electronics and Instrumentation	2	7.5	15.0
2	FMPE-246	Tractor Systems and Controls	2	7.4	14.8
3	FMPE-247	Machine Design	2	7.5	15.0
4	SWCE-244	Soil and Water Conservation Engineering	3	7.6	22.8
5	IDE-242	Irrigation Engine ing	3	7.6	22.8
6	PFE-244	Post Harvest Engineering of Cereals, Pulses and Oil Seeds	3	7.5	22.5
7	REE-243	Fundamentals of Renewable Energy Sources	3	7.5	22.5
8	FS-244	Building Construction and Cost Estimation	2	7.5	15.0
9	GAE-241	In Plant Training - I	5	9.1	45.5
			25		195.9

CREDITS COMPLETED 25 **CREDITS POINTS** 195.9 **GRADE POINTS AVERAGE** 7.84

DATE: 29/10/2021.

Note: This Grade Card is useful only for scholarship purpose and should not 69 1898 No. A



# वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

#### GRADE CARD

NAME

: JAGIRDHAR M. A

REG NO : 2018AEPB023

DEGREE : B.Tech.(Agril. Engg.)

ACADEMIC YEAR : 2020 - 2021

INSTITUTE: College of Agril. Engg. & Technology, Parbhani

SEMESTER NO : V

SR.NO.	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE POINTS	CREDIT
1	FMPE-358	Farm Machinery and Equipment-I	2	8.4	16.8
2	FMPE-359	CAD Applications	1	8.6	8.6
3	FMPE-3510	Field Operation and maintenance of Tractor and Farm Machinery	1	9.0	9.0
4	SWCE-355	Water Harvesting and Soil Conservation Structures	3	8.5	25.5
5	IDE-353	Groundwater, Wells and Pumps	3	9.0	27.0
6	IDE-354	Drainage Engineering	3	8.9	26.7
7	PFE-355	Dairy and Food Engineering	3	9.0	27.0
8	REE-354	Renewable Power Sources	3	9.1	27.3
9	FS-355	Agricultural Structures, Storage Engineering and Environmental Control	3	8.9	26.7
10					
			22	•	194.6

(R = Repeat, G = Passed by grace marks, \* = Non-gradial course, \*\* = Remedial Course, Ex = Exemption, \_\_ = Passed in Previous Year)

CREDITS COMPLETED	22
CREDITS POINTS	194.6
GRADE POINTS AVERAGE	8.85

DATE: 29 10 2021.

Note: This Grade Card is useful only for scholarship purpose and should not be used for any other purpose.



# वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

### **GRADE CARD**

NAME

: JAGIRDHAR M. A.

REG. NO: 2018AEPB023

DEGREE : B.Tech.(Agril. Engg.)

ACADEMIC YEAR : 2020 - 2021

INSTITUTE: College of Agril. Engg. & Technology, Parbhani

SEMESTER NO.: VI

SR.NO.	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE POINTS	CREDIT
1	FMPE-3611	Farm Machinery and Equipment-II	2	8.2	16.4
2	FMPE-3612	Tractor & Farm Machinery Design	3	8.9	26.7
3	SWCE-366	Watershed Planning and Management	2	9.2	18.4
4	IDE-365	Canal Irrigation Management	2	9.2	18.4
5	IDE-366	Sprinkler and Micro Irrigation System	2	9.5	19.0
6	PFE-366	Post Harvest Engineering of Horticultural Crops	2	9.7	19.4
7	PFE-367	Refrigeration and Air Conditioning	2	9.3	18.6
8	REE-365	Bio-energy Systems: Design and Applications	3	9.7	29.1
9	AS-ESDM-361	Environmental Science and Disaster Management	3	9.5	28.5
10					
			21		194.5

(R = Repeat, G = Passed by grace marks, \* = Non-gradial course, \*\* = Remedial Course, Ex = Exemption, \_\_ = Passed in Previous Year)

CREDITS COMPLETED	21
CREDITS POINTS	194.5
GRADE POINTS AVERAGE	9.26

DATE: 29/10/2021

Note: This Grade Card is useful only for scholarship purpose and should not be used for kiny officeropurpose.